Putting it All Together… It’s Not Over Yet
REMEMBER THAT YOU MUST SHOW WORK TO RECEIVE CREDIT

(a)     

(b) Fg = 245 N

Fg( = 212 N

Fg((=122.5 N

FN = 212 N

Ffric = 25.5 N

(F = 77.0 N

(c) 3.08 m/s2
(d) Wapp = 1350 J

Wgrav = -735 J

Wfric = -153 J

Wnorm = 0 J

(e) Wnet = 462 J

(f) Typo.  It should read, how do (d) and (e) compare? 

(g) 50 J

(h) 6.4 m/s

(i) 6.4 m/s

	Position
	KE
	PEg

	Bottom
	50 J
	0 J

	Top
	512 J
	735 J
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	Position
	KE
	v
	PEg
	h
	PEe
	(x 

Spring Compression
	Total Mechanical Energy

	A
	0
	0
	882 J
	9 m
	180 J
	0.12 m
	1062 J

	B
	180 J
	6 m/s
	882 J
	9 m
	0
	—
	1062 J

	C
	523 J
	10.2 m/s
	539 J
	5.5 m
	0
	—
	1062 J

	D
	1062 J
	14.6 m/s
	0
	0
	0
	—
	1062 J

	E
	0
	0
	0
	0
	1062 J
	0.158 m
	1062 J
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